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SOCIOLOGY
[ Honqﬁ_rs ]
PAPER -1
Full Marks : 90

Time : 4 hours
The figures in the right hand margin indicate marks

. Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary -

GROUP - A

Answer any two of the following : }15 x2
1. Issociologya science ? Discuss with arguments.

< 2. Write a brief note on the major agencies of
socialization.
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3. Discuss themajor features of Advanced Industrial
societies.

4. Define functionalism. Discuss the core
assumptions of functionalism.

5. Define marriage. What are the different types
of Hindu marriage ? Discuss.

6. Define ethnicity. Discuss the status of ethnic
minorities enjoy in plural societies.

GROUP --B .
~ Answer any five of the following : 8x5
7. Define culture. What are its different
components ?
8. Discuss the factors that influence social change
in modern times.

9. What are the basic characteristics of agrarian
societies ?
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10.

11.

12.

13.

14.

13.

16

17.
18.

19.
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Make a distinction between pre-mdustnal
and post-industrial societies.

‘What do you mean by non-verbal communication ?

What do you mean by violence w1thm the
families ?

What are institutions ?

What, according to G.S.Ghurye, are the basic
features of Indian Caste system ? |

What do you mean by social movement ?
What do you mean by ethnic antagonism ?

GROUP -C
Answer any five of the folowing: ~ 4x5

What is common sense ?
Whatis ICA ?

Define family.
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20.

1.

22.

23.
24.
28,

26.
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What are mores ?

Name two formal means of social control.

Give some examples of the dark side of the
family ?

What are the mai;n features of joint family ?
What are the characteristics of pastoral society ?
Define group. |

Who are the tribes ?
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